CHEMISTRY REVISION
1.  Write the formula of the following: 

Iron (III) hydroxide

Fe(OH)3
Ammonium sulfide

(NH4)2S
2.   Balance the following chemical reactions. 
C3H8   +     5 O2



3 CO2   +  4 H2O


Cr2O3    +   3 Mg



2 Cr    +   3 MgO

3.  Determine if a precipitation reaction has taken place in the following upon mixing the following solutions together.  If a precipitate occurs, write an ionic equation. If no reaction takes place, write ‘No Reaction’. 
a) BaCl2(aq)   +   NaOH(aq)
Ba(OH)2   and    NaCl   
Both soluble; no precipitation reaction.
b) AgNO3(aq)   +   CuCl2(aq) 
Cu(NO3)2   and    AgCl    
AgCl is insoluble. The ionic equation is: 
Ag+ (aq)  +   Cl- (aq)  


AgCl (s)
4.  Give the products for the following chemical reactions and balance the equation. 
a) 3KOH   +   H3PO4  



K3PO4      +    3 H2O    
       Heat 
b) Cu(HCO3)2    



CuO     +     H2O     +    2 CO2
c) ZnCO3    +      2 HNO3  


Zn(NO3)2     +      H2O     +     CO2   

5.  Calculate the number of moles of calcium in: 
a) 50g of calcium = 
n(Ca) = m / M = 50 / 40 = 1.25 moles
b) 3.0 moles of calcium phosphate Ca3(PO4)2    there are 3 Ca atoms in one Ca3(PO4)2 
therefore, n(Ca) = 3 x 3 = 9 moles. 
6.  List five factors that affect the rate of chemical reactions. 
Surface area; temperature, concentration, catalyst and pressure. 
7.  Which one of the following has a different number of particles? 
a) 1 mole of hydrogen gas
1 mole = 6.02 x 1023 particles
b) 7g of lithium


n = m/M = 7/7 = 1 mole or 6.02 x 1023 particles
c) 39g of potassium

n = m/M = 39/39 = 1 mole or 6.02 x 1023 particles
d) 18g of carbon 


n = m/M = 18/12 = 1.5 moles or 9.03 x 1023 particles
